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Disclaimer

The Sample Practice Test (the “Test”) is intended to assist candidates of the relevant paper of the
Licensing Examination for Securities and Futures Intermediaries (the “LE”) in preparing themselves
for the relevant LE paper. The questions of the Test are NOT actual questions from the LE paper.
Since the relevant laws, regulations, practices and requirements may be revised, amended or updated
from time to time, no express or implied warranty is given by the Hong Kong Securities and
Investment Institute (“HKSI Institute”) that the questions are up to date.

The HKSI Institute does not warrant that any person who correctly answers the questions in this Test
will pass the LE paper. Under no circumstances shall the HKSI Institute be liable for any direct or
indirect loss or damage caused or alleged to be caused by your use of or reliance on any materials in
and/or content of these sample questions.
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1  SOLARCOREP is listed in Hong Kong, manufactures in Mainland China and exports to North
America, Europe and Japan. It has trading companies based in Los Angeles and London. Its
sales are mainly made in Yen, Euros and US dollars. Half of its outstanding debts are
denominated in Euros and US dollars. SOLARCORP is considering to take over RADIUSCORP
to expand into Australia.

RADIUSCORP is based in Sydney and listed on the Australia Securities Exchange. The
company was founded by the Smith family. The family currently holds a controlling stake of
38% in the company. The remaining shares are mostly held by retail investors. RADIUSCORP
mainly sells in Australia and the USA. Its loans are in Australian dollars.

The following summarises their financial situations:

SOLARCORP 20X1 20X2 20X3
HKD million HKD million HKD million
Assets
Cash 226 312 518
Receivables and inventories 894 915 967
Fixed assets 1,293 1,436 1,532
Intangibles 264 232 200
Other assets 321 365 381
Total assets 2,998 3,260 3,598
Liabilities
Payables 487 536 546
Borrowings 715 687 625
Other liabilities 336 379 451
Total liabilities 1,538 1,602 1,622
Equity
Ordinary shares 800 800 900
Reserves and retained profits 660 858 1,076
Total equity 1,460 1,658 1,976
RADIUSCORP 20X1 20X2 20X3
AUD million AUD million AUD million
Assets
Cash 11 13 12
Receivables and inventories 92 96 105
Fixed assets 45 52 59
Other assets 16 14 16
Total assets 164 175 192
Liabilities
Payables 52 57 61
Borrowings 40 43 49
Other liabilities 21 22 26
Total liabilities 113 122 136
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Equity

Ordinary shares 40 40 40
Reserves and retained profits 11 13 16

Total equity 51 53 56
RADIUSCORP 20X1 20X2 20X3
Extracted from income AUD million AUD million AUD million
statement

Turnover 238 259 283
EBITDA 16 17 21

EBIT 12 13 16

Profit before tax 9 10 12

Profit after tax 6 7

Dividend 4 5

Retained profits 2 2

Share information

Number of issued shares 10,000,000 10,000,000 10,000,000
Share price at balance date AUD9.60 AUDI11.20 AUDI1.70
Price/ earnings ratios of 18 times 17 times 17 times

comparable companies

SOLARCORP has 850 million shares outstanding and the shares are trading at HKDS5.80.
Assume that the exchange rate is HKD1.00 = AUDO.15.

SOLARCORP allows each shareholder of RADIUSCORP to choose between either of the
following two payment options:

All cash offer: AUD13.00 per share (HKD86.67); or

Share and cash offer: 10 SOLARCORP shares for every 1 RADIUSCORP share plus AUD4.50
cash per share, making the combination offer worth about AUD13.20 based on the current share
price and exchange rate.

The Smith family 1s in favour of the takeover, and has indicated that it will accept the cash offer.
SOLARCORP expects that about 70% of shareholders will accept the cash offer, and the other
30% will accept the combination offer. The expected situation will require AUD104.5 million
(about HKD697 million) and the issue of about 30 million SOLARCORP shares (a small
addition to the existing 850 million shares outstanding).

Which ONE of the following scenarios is the LEAST POSSIBLE in this takeover process?

FROPEEEAE R B > AE PRI EOE R b > MR Sa I EIIESEN ~ BOMR H A -
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A SOLARCORP finances the acquisition completely with its reserves.
FROI SR 52 4= DAL G 2 (Ut T ) -

B SOLARCORP can use US dollar debt market for financing.
SRR T DUE SR T R TR A -

C SOLARCORP is of a size that all its financing requirements can be met by the Hong
Kong market.

DIgRgPEEBIRYRIE » BRTIS AT a T AREZEK -

D SOLARCORP is of a size to be able to seek multilateral facilities to reduce its
dependence upon one lender.

Llgrilb R EHRIE - ATLIRUSZBRE - DIATRE B — SRR -
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2 SOLARCORRP is listed in Hong Kong, manufactures in Mainland China and exports to North
America, Europe and Japan. It has trading companies based in Los Angeles and London. Its
sales are mainly made in Yen, Euros and US dollars. Half of its outstanding debts are
denominated in Euros and US dollars. SOLARCORP is considering to take over RADIUSCORP
to expand into Australia.

RADIUSCORP is based in Sydney and listed on the Australian Securities Exchange. The
company was founded by the Smith family. The family currently holds a controlling stake of
38% in the company. The remaining shares are mostly held by retail investors. RADIUSCORP
mainly sells in Australia and the USA. Its loans are in Australian dollars.

The following summarises their financial situations:

SOLARCORP 20X1 20X2 20X3
HKD million HKD million HKD million
Assets
Cash 226 312 518
Receivables and inventories 894 915 967
Fixed assets 1,293 1,436 1,532
Intangibles 264 232 200
Other assets 321 365 381
Total assets 2,998 3,260 3,598
Liabilities
Payables 487 536 546
Borrowings 715 687 625
Other liabilities 336 379 451
Total liabilities 1,538 1,602 1,622
Equity
Ordinary shares 800 800 900
Reserves and retained profits 660 858 1,076
Total equity 1,460 1,658 1,976
RADIUSCORP 20X1 20X2 20X3
AUD million AUD million AUD million
Assets
Cash 11 13 12
Receivables and inventories 92 96 105
Fixed assets 45 52 59
Other assets 16 14 16
Total assets 164 175 192
Liabilities
Payables 52 57 61
Borrowings 40 43 49
Other liabilities 21 22 26
Total liabilities 113 122 136
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Equity

Ordinary shares 40 40 40
Reserves and retained profits 11 13 16

Total equity 51 53 56
RADIUSCORP 20X1 20X2 20X3
Extracted from income AUD million AUD million AUD million
statement

Turnover 238 259 283
EBITDA 16 17 21

EBIT 12 13 16

Profit before tax 9 10 12

Profit after tax 6 7

Dividend 4 5

Retained profits 2 2

Share information

Number of issued shares 10,000,000 10,000,000 10,000,000
Share price at balance date AUD9.60 AUDI11.20 AUDI11.70
Price/ earnings ratios of 18 times 17 times 17 times

comparable companies
SOLARCORP has 850 million shares outstanding and the shares are trading at HKDS.80.
Assume that the exchange rate is HKD1.00 = AUDO.15.

SOLARCORP allows each shareholder of RADIUSCORP to choose between either of the
following two payment options:

All cash offer: AUD13.00 per share (HKD86.67); or

Share and cash offer: 10 SOLARCORP shares for every 1| RADIUSCORP share plus AUD4.50
cash per share, making the combination offer worth about AUD13.20 based on the current share
price and exchange rate.

The Smith family is in favour of the takeover, and has indicated that it will accept the cash offer.
SOLARCORP expects that about 70% of shareholders will accept the cash offer, and the other
30% will accept the combination offer. The expected situation will require AUD104.5 million
(about HKD697 million) and the issue of about 30 million SOLARCORP shares (a small
addition to the existing 850 million shares outstanding).

Which ONE of the following statements is INVALID?
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A Translation of the books of the new Australian subsidiary into Hong Kong dollars for
the financial statements of SOLARCORP at year-end is not necessary.

gﬁ?ﬂﬁ%ﬁfﬁiﬁﬂ@ WARs e TR HIBONI B . SRR H SR RGBT A

B SOLARCORP can manage the currency risk of its overseas operations by matching
currencies of liabilities against assets, and expenses against revenue.

R VAR o] DU B (Y S BT Y SR ECET - SUESCHIT SR B A Y &
Ao - (e E BB NEB I E R -

C RADIUSCORP’s revenue can support part of the Australian dollar denominated debt
should SOLARCORP decide to raise debt capital in Australia.

G R B EE NS B EAR A » f 2 S U A B 2R FEl T
?% o
D SOLARCORP may raise US dollar denominated debts through its US subsidiary.

FRUI SR E o] 1 SR N RIS R ST
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3  SOLARCORP is listed in Hong Kong, manufactures in Mainland China and exports to North
America, Europe and Japan. It has trading companies based in Los Angeles and London. Its
sales are mainly made in Yen, Euros and US dollars. Half of its outstanding debts are
denominated in Euros and US dollars. SOLARCORP is considering to take over RADIUSCORP
to expand into Australia.

RADIUSCORP is based in Sydney and listed on the Australian Securities Exchange. The
company was founded by the Smith family. The family currently holds a controlling stake of
38% in the company. The remaining shares are mostly held by retail investors. RADIUSCORP
mainly sells in Australia and the USA. Its loans are in Australian dollars.

The following summarises their financial situations:

SOLARCORP 20X1 20X2 20X3
HKD million HKD million HKD million
Assets
Cash 226 312 518
Receivables and inventories 894 915 967
Fixed assets 1,293 1,436 1,532
Intangibles 264 232 200
Other assets 321 365 381
Total assets 2,998 3,260 3,598
Liabilities
Payables 487 536 546
Borrowings 715 687 625
Other liabilities 336 379 451
Total liabilities 1,538 1,602 1,622
Equity
Ordinary shares 800 800 900
Reserves and retained profits 660 858 1,076
Total equity 1,460 1,658 1,976
RADIUSCORP 20X1 20X2 20X3
AUD million AUD million AUD million
Assets
Cash 11 13 12
Receivables and inventories 92 96 105
Fixed assets 45 52 59
Other assets 16 14 16
Total assets 164 175 192
Liabilities
Payables 52 57 61
Borrowings 40 43 49
Other liabilities 21 22 26
Total liabilities 113 122 136

Paper 11

1"

© Hong Kong Securities and Investment Institute



Equity

Ordinary shares 40 40 40
Reserves and retained profits 11 13 16

Total equity 51 53 56
RADIUSCORP 20X1 20X2 20X3
Extracted from income AUD million AUD million AUD million
statement

Turnover 238 259 283
EBITDA 16 17 21

EBIT 12 13 16

Profit before tax 9 10 12

Profit after tax 6 7

Dividend 4 5

Retained profits 2 2

Share information

Number of issued shares 10,000,000 10,000,000 10,000,000
Share price at balance date AUD9.60 AUDI11.20 AUDI11.70
Price/ earnings ratios of 18 times 17 times 17 times

comparable companies
SOLARCORP has 850 million shares outstanding and the shares are trading at HKDS5.80.
Assume that the exchange rate is HKD1.00 = AUDO.15.

SOLARCORP allows each shareholder of RADIUSCORP to choose between either of the
following two payment options:

All cash offer: AUD13.00 per share (HKD86.67); or

Share and cash offer: 10 SOLARCORP shares for every 1 RADIUSCORP share plus AUD4.50
cash per share, making the combination offer worth about AUD13.20 based on the current share
price and exchange rate.

The Smith family is in favour of the takeover, and has indicated that it will accept the cash offer.
SOLARCORP expects that about 70% of shareholders will accept the cash offer, and the other
30% will accept the combination offer. The expected situation will require AUD104.5 million
(about HKD697 million) and the issue of about 30 million SOLARCORP shares (a small
addition to the existing 850 million shares outstanding).

Considering the strength of SOLARCORP relative to the size of the takeover, which ONE of
the following is the MOST PREFERRED way for SOLARCORP to finance the takeover?
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A Use all cash on hand.
FIHF EAY 2 -

B Issue new equity.
FTHTHEAS

C Use the overdraft facility.
{E SR

D Issue Commercial Paper.

TR
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4  Investors who are interested in the cash-flow yield from investments will often value a share
according to its:

HHEBIREH SRR EZAGER IR (GE R &RE

A earnings per share.
TR -
B net asset value per share.

BieEESE -

C dividend yield.
B SR -
D price-earnings ratio.

T EEFIER -
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5  Which of the following approaches can regulators take to control insider trading?
I Continuous disclosure regimes
II  Ethics training for market participants
IIT Severe penalties for persons found guilty of insider trading
IV Investigation of sudden and inexplicable share price movement
B I PR NS IIREE A A RN 5 2
I FrEpeEse
I 5SS HEEETERE TS
I EHEER SRR RS 5 A\ DA B B e 2
IV SRR R A R e (R S Bl 7 3

A [ and IT only
HEIKI

B IT and III only
HE I R 10

C I, III and IV only

HET IV
D I IL, III and IV

[~10~ 100 2 IV
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6 A Hong Kong company wants to co-operate with a firm incorporated in Singapore to develop
metallic ores business in Malaysia. Which ONE of the following is the MOST suitable business
structure for the two companies?

HEBN R E I A S S F R RS EA BB O - UM —IRERE S
A NGO st e

A Unincorporated joint venture
IREE &= R
B Sole proprietor
B S
C Private company
VNS
D Public unlisted company
ANRIEEHAE]
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7  Which of the following statements regarding cash-flow analysis are INCORRECT?

I Companies that fail to generate a consistent and sustainable cash flow from their operations
are considered to be at risk of going concern issues.

I The indications of impending failure become apparent at an earlier stage in a company's
cash flows compared to accrual accounting ratios.

III Cash flows analysis can penetrate or compensate for cosmetic accounting exercises where
borrowers intend to deceive the reader.

IV Cash flows analysis can replace conventional analysis of financial statements.
N HIHRIA T ERL < oo A A e e S A TR 2

I A EE PR EAUS 2 SR A w0 R A RS JE b -
I HEEEIPARIEMEAE A S i & S HFERT bR R EUR K -

I EfERABCS RS E AT - BLER T S Re A A eitR B 6o -
IV BRI oA BE B USSR A A s e oo A

A I only
HAEL

B IV only
HEIV

C I and IV only
HEI K IV

D [T and IV only
HAE T IV
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8  Which ONE of the following motives for undertaking mergers and acquisitions activities is
MOST suitable to describe the companies operating at one level in an industry acquire
companies either up-stream or down-stream in the value chain?

YR TR AT & O B R S S A B R RE T I [ 1 SR (R AT 2 WS (B o
RN AE] 7

A vertical integration
EHES

B horizontal diversification
EA[EIaN-

C diversification of activities
TTRGERS

D growth

e

Paper 11 19 © Hong Kong Securities and Investment Institute



9  Which of the following statements regarding segregation of duties arc CORRECT?

I A proper segregation of duties can prevent a significant loss from the concealment of
wrongdoings by staffs.

I Aproper segregation of duties shall entail a second tier of employees positioned to question
trading activities.

IIT A proper segregation of duties can ensure sufficient checks and balances in business
processes.

IV A proper segregation of duties in lending institutions involves separating the roles of credit
proposal initiation and credit proposal approval.

YL R 1 o A PR A TEREHY 2

[ EEREEE RSN 8 TR E 1T R E eSS -

I EENREE RSB A B AREAE S S -
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=

A [ and IT only
HEIKI

B IIT and IV only
HE I IV

C I, IT and III only

HETI K I
D I IL, III and IV

[~10~ 100z IV
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10 Which of the following are NOT the reasons for raising new equity capital through a rights
issue?

I  Repay the existing debt.

Il The current share price is above its intrinsic value.

IIT Lower the share price in order to increase the stock’s liquidity.
IV Acquire another business.

NEIREEA 2 i A R S BT R AR TR A 2

I (EEHEAES -

I HAkEERENEEE -

I [ERA{EHEE DA S he e -

IV iS4 M {EZEF -

A I and II only
HET &I

B [ and IV only
HAT IV

C IT and III only
HAEI K I

D [T and IV only
HAE T IV
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11  Which of the following factors should be in place to ensure accountability?
I Ensuring directors have sufficient resources to effectively carry out their duties.
I Appointment of truly independent non-executive directors.
I Creating a well-organised and effective audit committee.

IV Selecting truly independent auditors and allocating adequate resources to facilitate a
thorough and unbiased audit process

N HIIRLE R A R T R M B IR 2R

I HERESHES TeER > e ETEE T -

I ZEHEAEIIFTES -

I I SN A RGEFRR T2 R -

IV ZIEEIEAVEIZEED - W T e V&R - EHEMF L 2 A R EHE -

A I and III only
HET &I

B I and IV only
HEI K IV

C I, IT and IV only

AT~ K IV
D I, 1L, 11T and TV

[~11~10I fz IV
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12 Which of the following activities belong to mergers and acquisitions?
I Purchase of patents and associated manufacturing facilities from a company.
I Registration of patents and creation of a new company to exploit those patents.

III Negotiated conditional share swap, resulting in a combination of two or more businesses,
each exploiting patents registered by the other business.

IV Acquisition in the share market of a substantial stake in a listed company.
EUTNHREE & f S WO G 2

I PERA E RS A SR R AL A R -

I BAEEC RO A AR EA] -

I e a Ry G BEEIHSLL B a0 - BPREBIEN S — B EHY
EA o

IV fEREETSGIIER A SR E AR -

A [ and IT only
HEIKI

B IIT and IV only
HE I IV

C I, III and IV only

HET IV
D IL, IIT and IV only

HAET- II &IV
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13 Each of the following four investment projects requires an initial investment of HKD500
million. Each project will last and provide cash inflows for 10 years. Your assessment, based on
the operating cash flows, of the projects is as follows:

Project 1 2 3 4
Payback period 10 years 7.5 years 8 years 8 years
Average annual rate of return 9.5% 11.0% 11.5% 11.5%
Net present value based onthe cost of 14.1 17.8 19.7 15.5
capital (HKD million)

Internal rate of return 11.2% 12.9% 15.3% 15.3%

Which ONE of the following projects offers the LEAST favorable investment option?

PUNHEREH H o SHEEERIIHE 5 [f8TT - F(EHEHAHIR A 10 5 - WRHE
10 FENFRBER M - IRIBAUEH SR - B NS IHEARHEAT

HH / 2 3 4
=ENCE] 10 4F 7.5 & 8 4 8 4F
A [ R 9.5% 11.0% 11.5% 11.5%
TRIBEEARAT EERE (AEET) 14.1 17.8 19.7 15.5
EHERES 11.2% 12.9% 15.3% 15.3%

PUNBR— {25 H $e B i AN B Ry R 38 2

A Project 1
JHH 1
B Project 2
IHH 2
C Project 3
HE 3
D Project 4
IHH 4
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14 The following information is extracted from an annual report:

HKD million

Total assets 2,875
Total liabilities 1,594
Sales 2,578
Cost of goods sold 1,597
Gross profit 981
Operating expenses 693
Interest expenses 86
Profit before tax 202
Profit tax 42
Profit after tax 160

What is the return on assets?

UM &Rk H— 5

=k % 7n

B ERE 2.875
H{EREH 1,594
SR 2,578
EEE MR 1,597
EAH] 981
S 693
HMIERESZ 86
el 202
S 42
Ttz & A 160

REMRHREL /D ?

I

A 12.49%
B 38.05%
C 5.57%
D 6.68%
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15 Which of the following statements regarding valuation models are CORRECT?

I In the constant growth model, the return on equity and company’s retention ratio are
assumed to be constant.

I The capital asset pricing model does not assume that a market portfolio exists.

IIT The discounted cash flow model discounts projected net profits with an appropriate
discount rate.

IV Dividend discount model evaluates share prices based on anticipated future dividend
payments.

N HIIREE R it B AR A e a2 TEAERY 2

I (EEEN AR > BoAR[E]H 5 A B B S RREE R REe B e A 2 -
I EAFEEEREEMA TS EHEFE -

I REFRPRORA - o — 2 B RE PR SRR PR T AR T SR

IV B S AR AR R P T AR B TR E -

A I and II only
HET &I

B [ and IV only
HEITRIV

C IT and III only
HAEI K I

D [T and IV only
HAE T IV
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16 Below are the profitability ratios for BASSCO:

20X1 20X2 20X3
Gross margin 35.3% 36.8% 35.9%
Operating margin =~ 7.1% 6.8% 6.2%
Return on equity 14.5% 15.9% 16.6%
Return on assets 9.2% 9.7% 9.5%

Which ONE of the following is the BEST explanation of the trends from these ratios?
SR AT EAIRE SIEERAN T -

20X1 4E 20X2 4E 20X3 4E
SS|ES 35.3% 36.8% 35.9%
(=g E SIS 7.1% 6.8% 6.2%
EZNEIEES 14.5% 15.9% 16.6%
- ZAEIFES 9.2% 9.7% 9.5%

YR —TEE A R L A S T e AR ©

Return on assets is stable, but return on equity is decreasing, a reflection of declining
profit margin.

BERIERIRE - (BRI - SR IR T gk -

Operating margin and return on assets are stable, but return on equity is increasing,
indicating higher gearing is contributing to profit performance.

EEBNREEENHRIY /I - ERARFRAET » BURESERLER
HEHEFFIA -

Operating margin is diminishing due to higher operating expenses, but profit from
funds invested is rising while profit from assets is stable, probably indicating higher
gearing.

HPYEE S S - EETARES NE > HESREEATE LT > 5
HEENAERE - B RS EfT -

Operating margin is rising, but returns on equity and assets are relatively stable,
indicating less profit on higher sales, but adding to overall profit performance.

EHEENR T BERA R EENEEHRAETRE - BURIE L S EHATRAA]
BN (B BhREG AR -
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17

GLADYSCO was founded by the Noble family. The family retained 50% of the ownership after
GLADYSCO was listed on the stock exchange 12 years ago. GLADYSCO has HKD200 million
of recallable convertible notes outstanding and these notes will mature in three months. Each
note has a face value of HKD1,000 and can be converted into 100 ordinary shares only when
the note matures. GLADYSCO’s shares are currently trading at HKD15 and going strong with
the company’s robust earnings growth. Gearing ratio is 1.8 which the company considers high,
and interest cover is 1.5.

The family wants to maintain its control in the company. Which ONE of the following financial
strategies BEST fits the objective of the Noble family?

e A I HEEE A - 12 SFRig S AT ES X ST LT - ZEGRORE S0% %A
fE - FEAEE 2 (RATTHY R o [ AR SR Ul - ARSI RN = (8 HREY - B9k
SRIRHVEI{ESE 1,000 FTT - ifi H L AEHI{ERZ SR FISIG Al #A5% 100 B @i - f8 s F]
ARy B RTAE 15 BTt 5 - A SRR R i > IR S s - fRIRELR
Fo 1.8 ZAEIR RlwE o BAEFEEERE 1.5 -

o B R IA S MR RA N EI I PERIRE - DU IR —E R 1 SR i i S e B R IR H A 2

A Allow holders of the convertible notes to convert their notes to shares.
i R SRR N RFEEE AR -

B Raise US dollar bonds on the Euromarket and use the proceeds to pay out the
convertible notes prior to conversion.

FEEONEHTISLIRITEFEER - WINRRCZ AT > (EH AT ATE AT SE
i

C Issue preference shares and use the proceeds to recall the convertible notes prior to
the maturity date.

SETIEIJohE > WHEBH 287 > EFAEFTRUA A B AR R -

D Obtain a medium-term to long-term HK dollar loan and use the proceeds to pay out
the convertible notes prior to conversion.

FEfARe Z Al > SR P RIFAETTERR > I FHRTRUARTE AR -
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18 Which of the following activities are EXCLUDED in the secondary market?
I Trading of derivative warrants
I Arights issue
III A share transaction
IV Initial public offerings
LS SN RRE YL SE) ?
I EHEIEES
I e
Il fen 22 5
IV BB
A I and II only
HEIEI
B I and III only
HAET I
C IT and IV only
HAEI K IV
D IIT and IV only
HAE I B IV
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19 Which of the following are steps a bidder should take in anticipating a hostile reaction to a
proposed acquisition?

I  Making sure that its case is thoroughly prepared and capable of being persuasively
presented to shareholders.

I Establishing the ultimate offering price.

III Preparing alternative strategies.

IV Preparing to resort to legal action if the target fails to fulfill the legal requirements.
N HIIIRLL R B SR AE TR H A USC it & 5 [FRE R SR HE R L 1 i ?

I RECRIE o At SO B 1 RE 5 [0 e R L A 35 IR T T BB -

I e RS EEERE -

II AE(TR (oS -

IV RIS SRR A BT TAREORAVIRR - Tadftel AR -

A [ and IT only
HEIKI

B IIT and IV only
HE I IV

C I, III and IV only

HET IV
D I IL, III and IV

[~10~ 100 2 IV
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20  Which ONE of the following is LEAST LIKELY to be a potential benefit for a bank using
securitisation?

T HIR— IR A R RE e 7 LY VAL IR 2

Securitisation frees up banks’ capital by removing assets such as mortgage loans from
their statements of financial position.

s RS B E B E SR TR BRI R Th SR e TR A SR THYE A

Banks with less capital are driven out of the mortgage loan markets. This helps
consolidate the loan market.

BEARRVHSRITIEE R S SN - iEA R E SN -
Risks are transferred to where they are best placed.
AR L B S 22 e LT

Securitisation provides an additional and effective channel of funding, from sources
other than banks' traditional sources.

so b R SR T IR R & AR LAY MR AL B A R & 2R A -
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21 Compared to a bull market, which of the following is LEAST LIKELY to be observed for a
company during a bear market?

BAATHAELE - B EIEAE T AR S A FTRE B T AR5 2

A Decrease in expected dividend payment.

TRHARE S S ARk ) -

B Decrease in earnings expectation.
FIFITHIT R ER -
C Higher price-to-book ratios.

TR (E LR -
D Lower risk premium in returns required by investors.

P R A [ B i (E K
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22 Which of the following outcomes are anticipated by those investors who rely on “new economy”
multiples?

I

II

111

IV

The boom in the shares of those “new economy” companies will continue long enough for
other investors to purchase the shares from the present investors.

Increased revenue and market share will eventually result in sustainable operating earnings
and cash flows.

Increased number of visitors enhances management’s awareness on good corporate
governance and thus achieving sustainable benefits to investors and stakeholders.

The sheer size of a company that has achieved significant market share, albeit without
actually achieving sustainable operating earnings or cash flows, will induce takeover offers.

NHIIRIE Ak S OB (S B R A TR AT IR 7

I

II

III

v

AEAH WAL F R SR AR Y TR R R — ERike ] > DA [ Bt &= FIFR A
EAEER D -

Wizs K A TR BT R R B A Al R e B A SR S -

SIS A E T SR R BT o S A T T B R
EAHCTT R -

N FEISUERRERERI S F@AE TS EAR > RIEERE RS AR
BRI EER B - RS [ LY

I and II only
HEIKI

IIT and IV only
HE I IV

I, IT and III only
HET-I K I
I, Il and IV only

HEI-I KIV

Paper 11

33 © Hong Kong Securities and Investment Institute



23 The following figures relate to VisCo Company for the last fiscal year:

HKD (million)
Market capitalisation 41,000
Value of preference shares 6
Total debt value 39,000
Value of minority interest 20
Cash or cash equivalents 15
EBITDA (earnings before interest, taxes, |15,000
depreciation and amortisation)

What is the EBITDA multiple of VisCo Company?

THIELET A ] BV

AT (HE)
S EE 41,000
Rk E{E 6
FEHEE 39,000
DERCR R EE 20
B EEY) 15
EBITDABHOERFIE ~ FRIH ~ FTE8 K {15,000
SR A)

4E/\EI) EBITDA 5825/ 2

A 0.5x
B 6.6x
C 7.1x
D 5.3x
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24 Which of the following statements regarding stapled securities are CORRECT?

I Stapled securities comprise two or more components.
I Stapled securities allow investors to share cash flows generated from their assets.
III Stapled securities are opportunities for investors to invest in business trusts.
IV Stapled securities can be listed on exchange and traded like a stock.
YIRS 5 TR 2R 0 R 2 TERERY 2
I slEs M E e, ERVARECER (7 -
I SETE8 7 aT & T E e A ERTE AR S -
I &ET5F M EGIRI ARGt -
IV GElEF GRS L R EE -
A I and II only
HEIEI
B [I and IV only
HAE I B IV
C I, IT and III only
HAET~ I K I
D L II, IIT and IV
[~11~ 10 fz IV
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25 A company is expected to distribute a per share cash dividend of $0.795 one year from today.
The market requires a return of 15.9% from investing in the company’s shares. The shares are
currently trading at $28 each (ex-dividend). Assuming that the market expects the per share cash
dividend of the company will grow at a constant rate each year, what is the expected dividend
growth rate?

FAFEFEMH S KT R FRIEHRSRE K 0.795 7T MiSM &L A FHY
R TR 15.9% Bl - AREERE{y H AT LLEEE 28 7T (BRI X5 © Bk i i
O EIHERIR R B LIS E RS & - B S KRR Z /D ?

A 10.17%
B 13.06%
C 13.86%
D 12.06%
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26 Alan makes a deposit of $200,000 at 4% interest per annum compounded daily. How much
money can he withdraw from the bank after 5 days, given that the year has 365 days?

BESCAEFA 200,000 T > FEFERE 4% HE SR - [RA—FA 365 K > fifE 5 Kign]
PARISRATIRALZ /D R0H 2

A Approximately $200,022
200,022 JT

B Approximately $200,110
#7200,110 J¢

C Approximately $200,041
%7200,041 jT

D Approximately $200,056

#7200,056 JT
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27 Which ONE of the following statements regarding securitisation is INCORRECT?

Y IR—IE A5 B RS LAY BRAIUE AN IEREAY 2

Two basic forms of securitised loan transaction are pass-through bonds and bundled-
through bonds.

sa e EERC SRR AT A R il R (R 25 RS e R (5% -

Securitisation is the process of bundling assets into an entity which sells securities
that can be publicly traded as debt securities based on the value of the assets in that
entity.

s EfER— 2SR E AN —Ee » ARZERIEAHEENEEUEST
A ERERE - TR ERE R A UEBSES P B E AR EE -

If the securitised assets are mortgage loans, the securities are then known as mortgage-
backed securities.

oo LRV BRI B0 NIRZS6 778 RigtassoF -

The Hong Kong Mortgage Corporation Limited is one of the key players involving
securitisation in the Hong Kong market.

EEEGRFARAF SR BTSRRI ERSHE 7 — -
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28 What is the theoretical ex-rights price of a stock if a company makes a 1 for 3 rights issue when
the shares are trading at $18 and the subscription price is fixed at 20% below the current market
price?

B A FET 3 {1 1 Ayt - ERFPEERLE 18 JTa 5 - Mt ERIE EAEEE H AT
(R 20% > AR ARERTHIER R S (ERR 22D 2

A $17.10
17.10 7T
B $10.80
10.80 7T
C $14.40
14.40 7T
D $12.80
12.80 7T
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29 VIRCORP is financed by both debt and equity. The total value of the company’s assets is
estimated at $18 billion and the equity is $10 billion. The average cost of debt is 6%. The beta
of its shares is 1.8, the risk-free interest rate in the market is 2.5% per annum, and the market
risk premium is 9.7%. The tax rate is 18.5%.

Calculate VIRCORP’s after-tax cost of debt capital.

R AT LMER MAARE - LA FRVEEREMNETHE 180 (87T » MEARE 100 (&
TC ° PHEBRATE 6%  HEAYHT 280 1.8 - TiSNEEEEAPRERFE 2.5% -
IS E bR RS 9.7% - FiFIE 18.5% -

s RS A FIRHR B E AR RA -

A 7.11%
B 11.50%
C 4.89%
D 3.70%
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30 GRANDCORP is financed by both debt and equity. The total value of the company’s assets is
estimated at $18 billion and the equity is $8 billion. The average cost of debt is 8%. The beta of
its shares is 1.8, the risk-free interest rate in the market is 2.5% per annum, and the market risk
premium is 9.7%. The tax rate is 16.5%.

What is GRANDCORP’s debt-to-equity ratio?

1‘%?%‘] O FILMER SRR - A FIRVEEREMSETHE 180 fIT - MAHDE 80 (&
o SPHIEBEASE 8% o HALHYIEST ZHE0E 1.8 - TSNAVEERAPRERFE 2.5% -
ﬂﬁﬁ?f%ﬁkﬁﬁiﬁéfgﬂﬂ% 9.7% ° FRFZE 16.5% -

FaRA A FI A AR S b 2

A 1.25
B 1.50
C 1.75
D 2.00
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31 Which ONE of the following companies should have the HIGHEST cost of debt capital?

N HIER— R EHY S E AR A S R Y 2

A Company W: cash flows are negative so far.
HAHE : HeR —EEERE -

B Company X: cash flows are low and highly variable.
LN RO - T EAHE S 5% -

C Company Y: cash flows are high and predictable.
AAHE  IRERAES/KE - mAETENEE] -

D Company Z: operating profit is stable.

TAHE  ERNERRER -
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32 The risk-free rate is 5%. The expected return of the market is 12%. The beta coefficients of
Stock A and Stock B are 1.5 and 1.2 respectively. According to the capital asset pricing model,
what are the expected returns on Stock A and Stock B respectively?

HEEPRAARTE 5% MTEIATSEEHRE 12% © FRA ZR T 280 hE 1.5 K
1.2 - fRIEEAEECEBER > FR A LR Ay FIHE R =%/ 2

7.7% ; 8.4%
6.5% ; 6.2%

13.5% ; 13.2%

S a w >

15.5% ; 13.4%
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33  Which of the following are pre-emptive actions a company can take against hostile takeover
offers?

I Poison pills

I  Lobbying legislators

III Quality disclosure of financial statements

IV Cross shareholding

NHIREL R N SIS T R WO AT ER A (B S R 2
I FAETE

I ERILES

R

IV SRl

A IT and I only
HAE I K& I
B I, IT and IV only

HEI-IKIV
C I, IT and IV only

HAET~I IV
D L II, I and IV

[~11~10I fz IV
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34  Which of the following content is/are UNLIKELY to be disclosed in a prospectus?
I Future financial projection
I The procedures and schedules of the initial public offering process
IIT Confidential commercial information
IV Consolidated financial statements
NEIREE P AR KR RE A F R B A T R 2
I RARHYAHS TR
I EHRAFTHBIIRE SRR
I #eEmEsEEk

IV &EEWEHER

A I only
HAET
B I and III only
HET I
C IT and IIT only
HE I R 10
D IT and IV only
HEI IV
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35 Which of the following statements regarding risk and return are CORRECT?
I Risk and return are positively related.

IT  Itis essential to offer a greater return to incentivise investors to embrace an elevated degree
of risk.

Il Risk-free means there is no variability in its return.

IV Projects with a high perceivable level of risks will produce high returns.
BRI A el R K [m Y R A TR 2

I e el AR R -

I B20s [feE R E i E ey - (ER e &l -

I S [ oll S e P S i -

IV PR K s 2 R 2R s [ -

A I and IV only
HEIL K IV
B I, IT and III only

HAET~ I K I
C I, III and IV only

HAEL - O &IV
D L II, I and IV

[~11~10I fz IV
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36 Which of the following are NOT the warning signals of corporate failure?

I

II

III

IV

AR AN N FHEIPARY ST 2
IREERF IR -
HEfH R IR -
BILIRPITEBZEAL
IV BZEETE A FEER -

I

II

III

Distribution of special dividend.

Sudden decline in share price.

Disagreement with auditors.

Sudden death of an independent non-executive director.

A I and III only
HET I
B I and IV only
HEI IV
C IIT and IV only
HE I IV
D L II, IIT and IV
[~10~ 100 2 IV
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37 Which of the following are KEY characteristics of venture capital financing?
I Venture capitalists expect that the company may need further round of funding.
I Venture capitalists aim to earn a high capital gain from the investment.
III  Venture capitalists expect a high rate of business failure.
IV Venture capitalists generally get involved in the management of the business.
YR A SR A S R A R B Y E R 7
I AEREETRINA ] A RE R G iRl & -
I A& S E LS SR EAE (H -
Il AIZERE & TR A R R T -
IV ARECEE B E G2 0EE R EHEE -

A I and III only
HET I
B I, IT and IV only

HEIT-I KIV
C IL, IIT and IV only

HAET- II &IV
D L IL, III and IV

[~10~ 100 2 IV
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38 Which of the following are classified as hybrid securities?
I Subordinated debt
II  Convertible bonds
IIT Exchangeable bonds
IV Convertible preference shares
NI R R SR ©
I {&EEH
I e ES
I AJEEAE 25
IV AR SR

A [ and IT only
HEIKI
B I, IIT and I'V only

HET IV
C IL, IIT and IV only

HAET- II &IV
D I IL, III and IV

[~10~ 100 2 IV
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39 VisCo’s ordinary shares are currently trading at $16 each. According to the latest company
statement of financial position, the total assets and total liabilities are $4 billion and $1 billion
respectively. AEC, a large private equity firm, proposes a takeover bid of $30 per share for all
of VisCo’s 200 million outstanding shares.

Calculate the amount of goodwill based on the acquisition price if AEC successfully takes over
in VisCo at the proposed offer.

HEHT N FIHRE R H AT AR 16 TUHETTAC S  RIBSZ A RIS ATV B IR B4R
B R (EARER ST BIUE 40 (87T R 10 (87T » A FEAZIATRAAREAS A E’EEUt%N)
TCUCEAERT A Ry 2 2 (B E S TR -

RN F I DL RZ EASWORAERT A F] - ST RAEUE(E TP AR R 8 -

A $500 million
58T

B $3 billion
30 {E7T

C $4.5 billion
45 {8t

D $6 billion

60 {EtC
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40 The following information was extracted from WINDA’s income statement over the last two

years:
20X0 20X1
HKD million  HKD million
Sales 480 395
Depreciation and amortisation 45 47
Assets write-off/write-back (70) 25
Interest expenses 28 32
Profit before tax (50) 60
Profit tax -- 8

Which ONE of the following CORRECTLY explains the change in WINDA’s after tax profit
between 20X0 and 20X1?

LUN ERHE sk BRI A S R FERI % -

20X0 4 20X1 4
E1EET EET
S B AH 480 395
TS KA 45 47
B MR ] (70) 25
HME B 28 32
PR (50) 60
FFFR - 8

I 1R — TR ok TE RS A RS 2 AN E A 20X0 2 20X AR (& & A 2

The profit after tax in 20X1 is lower than 20X0 because of the decrease in sales.
FHR S B NIk > 20X 1 SFEHIRR R B AR 20X0 4 -

The profit after tax in 20X1 is higher than in 20X0 because of the increase in sales.
FHAY SR B3 BT > 20X1 FEHIRRR AL 20X0 4 -

The profit after tax in 20X 1 has increased significantly compared to 20X0 because the
Company made a write-off of an asset in 20XO0.

RS 20X0 S5 —IHE EEF HBEAAIMEE - 20X1 A% 2 FIE: 20X0 FAMEHH

= o
[=1

The profit after tax in 20X1 is lower than 20X0 as a result of a higher profit tax
expenses.

PRSI = AR - 20X1 FAVRRIR ARG 20X0 4 -

Paper 11

51 © Hong Kong Securities and Investment Institute



Answers

Question No. | Answers Question No. | Answers
1 A 21 C
2 A 22 D
3 B 23 D
4 C 24 D
5 D 25 B
6 A 26 B
7 B 27 A
8 A 28 A
9 D 29 C
10 C 30 A
11 D 31 A
12 C 32 D
13 A 33 D
14 C 34 B
15 B 35 B
16 C 36 A
17 C 37 D
18 C 38 D
19 D 39 B
20 B 40 C
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